H & 0l & AHS B Ml A

FA BEES
B sApsA
ol NgES 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHES 34,121,767 31,607,801 2,513,966
= 7,405,801
[ 56,900
Il 1,478,500
< 2,394,909
Al 22,785,657
sSF2sett 5,772,898 5,649,631 123,267
= 49,450
Il 1,440,000
== 141,015
Al 4,142,433
NHES 2tel 263,563 62,369 201,194
[ 75,000
Al 188,563
AAES 2tef 13,563 13,369 194
101 @124H| 8,063 7,869 194
M ORIMZZ2NSE S 8,063 7,869 194
2™ HASA7S F2UZAIH 8,063
-Jl2s 79,0003 x2& 40! 6,320
=Xt 39,5008 x2& 14 1,106
= PNE=y 39,5003 x2&+x3E 237
-=S €l 5,000& »2& »40& 400
201 er23| 5,500 5,500
01 At2teltl 5,500 5,500
2N g2 =Y 100,000 *20H 2,000
BUEZAUAN R SZLHYA BLES
(AL & ) 3,000
2EE HASATRE FUBANS 2S=ES 500
Pl SFus Z28 29 10,000 9,000 1,000
= 3,000
Al 7,000
201 Ler=23| 10,000 9,000 1,000
= 3,000
Al 7,000
01 AtR2t2|HI 10,000 9,000 1,000
HoPte SFus 2208 29 10,000
=S 3,000
Al 7,000
ANEgZusHe X3 40,000 40,000 0
& 12,000
Al 28,000
307 lztol & 40,000 40,000 0
= 12,000




FA BEES
HE: BFBsA
el NHES 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 28,000
02 QA AAEE X 40,000 40,000 0
AGtdusdH X2 40,000
s 12,000
Al 28,000
MERXI & (3EHH) M= 200,000 0 200,000
& 60,000
Al 140,000
207 ARl 200,000 0 200,000
= 60,000
Al 140,000
01 = 200,000 0 200,000
HEHKIE M= 200,000
= 60,000
Al 140,000
A ST o+ Al 1,640,000 1,600,000 40,000
7l 1,440,000
= 48,000
Al 162,000
el BN =10 1,600,000 1,600,000 0
Il 1,440,000
= 48,000
Al 112,000
301 EtE N = 1,600,000 1,600,000 0
) 1,440,000
& 48,000
Al 112,000
01 Al EEATZ(2REZMR) 1,600,000 1,600,000 0
AT SH MY 1,600,000
Jl 1,440,000
[ 48,000
Al 112,000
ST A AZ2te| MHIA A 40,000 0 40,000
308 AHXIEMSOIH 40,000 40,000
07 M HHIRE = 40,000 40,000
AEU A AZ2te] AHIA AL 40,000
2H3EH 12 71,898 71,898 0
ASIsed 71,898 71,898 0
201 fet= 3| 5,000 5,000 0
02 S3=gHl 5,000 5,000 0
AHsEE NSYFE o] 3,000
01220l AAXNZE RS2 SIH 2,000
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FA BEES
B sRpsA
tel: OFlESE 23 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 17,000 15,000 2,000
01 MHZH| 17,000 15,000 2,000
=oll0dS= AHE A 17,000
301 LEtE N = 431,270 431,270
14 DBt 2 a3 431,270 431,270
=oliOtdsS=ME =29 375,550
-Fol0dSE FHE 234
77,5002 %3524 %130 362,625
~SEOHYSS RS 2HAlY|
3,500 x352*130 16,925
-FolOtESE FHE LISt
200,000 %35 7,000
FolOlSE 2HE EAXS 25 5,720
-FolOFESE FHE SAXSHAL2Y
10,0002 12 *5IH A+42] 2,400
-FoOtESE FHE TAXSE 2]
74,0003 57 2= %4 2] 1,480
-FolOtEsSE FHE TAKS 25
4l L eyl
92,0003 *5JH 2-*42] 1,840
SO ESS PME OtZCIDIH KIS Y XtE
HIS 50,000
-FolOrdS= FME AKX CIBI 50,000
405 KHoHF S| 1,000 27,500 A\26,500
01 MM ESFSHI 1,000 27,500 A\26,500
A2 1,000,000 *1CH 1,000
FY0Es=E 25 500 500
301 22N = 500 500
4 JIE2 8= 500 500
FHOMSE 0l 500
ORIt XIZSE e AM(XHA) 10,000 10,000
201 er23 | 10,000 10,000
01 At2teltl 10,000 10,000
=ollOrliS= HIALK Xl 10,000
BN BXREX E5 14,000 0 14,000
= 7,000
= 2,100
Al 4,900
405 AHatE = 14,000 0 14,000
= 7,000
[ 2,100
Al 4,900
01 TR =S F=H 14,000 0 14,000
EI|oHN BRER 22 14,000




FA BEES
B sRpsA
el Otds= B (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,000
=S 2,100
Al 4,900
OIsE BE5(EX) 37,100 37,100 0
= 18,550
= 5,565
Al 12,985
OlZCIDtEHXIZY e At (=HIEX) 37,100 37,100 0
= 18,550
= 5,565
Al 12,985
201 er23y| 37,100 0 37,100
= 18,550
= 5,565
Al 12,985
01 At2teltl 37,100 0 37,100
OFHCUSHAI HIAKI Xeldl 37,100
= 18,550
== 5,565
Al 12,985
Ord== TloHol 147,400 151,400 24,000
= 3,900
[ 4,350
Al 139,150
OfMSE LISHHZEXRA(EX) 10,600 10,600 0
= 3,180
Al 7,420
206 M=l 7,800 7,800 0
= 2,340
Al 5,460
01 M=4l 7,800 7,800 0
FolOrdSS ToHZ 2 M (O1TIM) X
50,0008 156 It 7,800
== 2,340
Al 5,460
301 2EN= 2,800 2,800 0
S 840
Al 1,960
14 IIEt2 83 2,800 2,800 0
FoliftlS==2 gt s&= L2 2,800
= 840
Al 1,960
OrMESS TSHOIE AFS (XHAI) 129,000 129,000 0




FA BEES
Hu: AP SA
cell Otds= Ulohol (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 15,000 15,000
01 MHZH| 15,000 15,000
OrdS= UloHd82 M X3
30,0003 *2J4*250&H 15,000
301 EetE2 N = 114,000 114,000
4Bt 2as 114,000 114,000
Ord=S= LIoHOEAIE EX K& 2o
3,000,000 30 90,000
OtiSE SHE LEd=s
1,000,000& +20& 20,000
OrdS= ClgUlol 243
1,000,0002 x4 4,000
OMMESE TOHUHEAIE AIS(SHIEX) 7,800 11,800 24,000
= 3,900
= 1,170
Al 2,730
301 EtE N = 7,800 11,800 24,000
= 3,900
= 1,170
Al 2,730
14 IIEt2d3 7,800 11,800 24,000
OrdS= LIoHOIZAIE AL 7,800
= 3,900
[ 1,170
Al 2,730
HdEf A et 4= EIXIAY 58,500 58,060 440
= 20,000
[ 6,000
Al 32,500
HENH e HE EIXIAY 40,000 40,000 0
= 20,000
s 6,000
Al 14,000
101 e124d| 40,000 40,000 0
= 20,000
= 6,000
Al 14,000
04 JIZtN2Z2 XS 40,000 40,000 0
dEiAuet 4= EXIA 40,000
-Jl==2 79,0003 x4 88! 27,808
= 13,904
= 4,171
Al 9,733
=5rd 79,0003 x4 *17& 5,372




FA SEES
mu: siAD s
Chol: MENH DR ME S XA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,686
=S 806
Al 1,880
-xt=g 79,0002 x4 H 4 1,264
= 632
= 189
Al 443
-= &l 5,55
= 2,778
= 834
Al 1,944
MERH WEt M2 EIXIAR (XEA) 18,500 18,060
101 e124d| 18,500 18,060 440
M ORNZZ2NSE S 18,500 18,060 440
SEHAH LA S ZAF & EIX] QIR (XEH) 18,500
= 79,0003 x22 88 13,904
“=s5=g 79,0002 x2& x183] 2,844
-xtrg 79,0002 x2H 4 632
=&l 140,0003 =2 *4E 1,120
SSAAL2CSE AS At 3,008,824 3,141,211 A132,387
AlE2e|SH IS A 3,008,824 3,141,211 A132,387
308 XXM SO0IH 2,997,374 3,003,011 A95,637
18 SIS0t 4 A AS A 2,997,374 3,003,011 A\95,637
SZAAZ2ESE 3o ASAIE 2,997,374
-dE s 54,393
-AUMHEY BE+XCIAE 145,398
-2 XelAlE 160,99
-HSIIEEE2RXCAE 2,636,587
403 AXIEHMSAH=0ld 11,450 48,200 A36,750
02 SISOt =22 P E A I 11,450 48,200 A36,750
SEAAL2SH M2 A A 11,450
e S H 3,850
SN2 aXlAE 7,600
SHEE 7,850,687 5,080,992 2,769,695
= 3,302,560
Jl 38,500
s 1,472,850
Al 3,036,777
SHst =N 507,667 659,618 151,951
= 10,760
= 63,600
Al 433,307




FA SEES
LI NRES
o9l JISHE (R (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JI2Hstu=sdE 24 50,000 45,000 5,000
307 elztol & 50,000 45,000 5,000
05 2IHRIE S 50,000 45,000 5,000
Jl2EstuFdE 2| 50,000
STEE 240tA HIUX SEZIH X (EX) 12,000 12,000 0
= 3,600
Al 8,400
207 ARl 12,000 12,000 0
== 3,600
Al 8,400
01 H7ESHI 12,000 12,000 0
SSEE 24014 HiUX SHE2CIH X2
12,000,000& * 124 12,000
= 3,600
Al 8,400
O2l0ol SEXtel LPGRE M XI¥ At (2X) 10,000 42,000 /32,000
= 5,000
Al 5,000
402 2I2F X201 & 10,000 42,000 /32,000
= 5,000
Al 5,000
02 QI EASEZ(0IETHR) 10,000 42,000 A32,000
020l SStxteel LPGRF Mt XIZ A
5,000,000 =2CH 10,000
= 5,000
Al 5,000
OIMIEX S A =& 29,521 46,718 A17,197
201 fer23y| 13,521 46,718 N33,197
01 AtR2t2|HI 13,521 46,718 A33,197
HsSRA 2HIHA =8 X
42,9003 *51CH 2,188
SRR HI o]
15,300 *708CH 10,833
OIMISX M2ZAIY 82 2
50,0002 x10IH 2+ 13] 500
401 AIEHIX 20HH 16,000 16,000
01 A28l 16,000 16,000
UoletE =84 M & oHME2H
X 8,000,000 x2JH 2= 16,000
INEE N=sA222d E5AHY 9,600 18,000 A\8,400
= 5,760
Al 3,840
402 QI”F X201 & 9,600 18,000 A8,400
= 5,760




FA SEES
LI NRES
o9l JISHE (R (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,840
02 QI XHE AL E R (01X THE) 9,600 18,000 A8,400
INHE KsA HYY HSMNY(HASE)
600,000 = 16CH 9,600
= 5,760
Al 3,840
HEZCIM =2 0IMSX HZ 60,000 0 60,000
= 60,000
201 fer=3| 60,000 0 60,000
== 60,000
01 At2teltl 60,000 0 60,000
oIt S 20,000,000 = 1CH 20,000
= 20,000
S FAX SR 20,000,000 1CH 20,000
= 20,000
SHEY FAX LR 20,000,000 = 1CH 20,000
& 20,000
SEAl SFIIZAE 2014 HHEXHAHM 2 336,546 480,600 A144,004
201 2= 296,546 460,600 A164,004
01 At22t2l] 20,655 20,600 %5
gt=J1cha HHEHAIE Aol & HehE
SN s 655,000& %12 655
28012 HHEE SAAM & AEAHEM dS 20,000
02 S3=gHl 275,891 440,000 164,109
SATIA HEHAHH 2
27,7503 9,942= 275,891
207 AR 40,000 20,000 20,000
01 H7ESHI 40,000 20,000 20,000
24tA HHEE BAM &Bd 2 US 20,000
BIE2 HchAl BHEE ASAHEN HELUS 20,000
ZeE sk 28 7,203,120 4,215,350 2,987,770
= 3,291,800
< 1,390,500
Al 2,520,820
HIINSIHESE) ESAd 2,167,000 1,200,000 967,000
= 788,000
== 591,000
Al 788,000
402 212 X201 & 2,167,000 1,200,000 967,000
= 788,000
=S 591,000
Al 788,000
02 RIENEASEZ(0IETHR) 2,167,000 1,200,000 967,000




A 2EES
LR NVIRES
el e NSk 2Es EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HIINSAHEE) 28
11,000, 000& =197 CH 2,167,000
= 788,000
[ 531,000
Al 788,000
HIINSIHEE) ESAd 3,700,000 2,300,000 1,400,000
= 2,035,000
[ 499,500
Al 1,165,500
402 QI2F X201 & 3,700,000 2,300,000 1,400,000
= 2,035,000
s 499,500
Al 1,165,500
02 QI EASEZ(0IETHR) 3,700,000 2,300,000 1,400,000
HIINSTH(32) BSAY
20,000,000 *185CH 3,700,000
= 2,035,000
=S 499,500
Al 1,165,500
ZII0IEX ESAE 97,600 112,000 A 14,400
= 48,800
Al 48,800
402 QI”F X201 & 97,600 112,000 14,400
= 48,800
Al 48,800
02 QI A2 AL E R (0IHTHEA) 97,600 112,000 14,400
SII0IEX ESAS 1,600,000& «61CH 97,600
= 48,800
Al 48,800
SIIHA E5AY 1,230,000 600,000 630,000
= 420,000
= 300,000
Al 510,000
402 2IZtA=01A 1,230,000 600,000 630,000
= 420,000
= 300,000
Al 510,000
02 QI A2 AL E R (0IETHR) 1,230,000 600,000 630,000
SIIHA EZAY 205,000,000 +6CH 1,230,000
= 420,000
& 300,000
Al 510,000
Zlgtd s 2=2X3 8,520 3,350 5.170
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A BEES
I BAQHSA NI
chel: tiolegatel EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BHREEFAY AR
200,000 *6CH 1,200
SBHELEAIL FH AFE= 4,000
EZAAN(SEAMN) 2B EE RIS M2/
700,000 <22 1,400
BoNSE SZJY [N 2|
1,250,000 *23] 2,500
BHELEAL UHISS 2,000
FoUAFTZHI| A2 R HSES+B
2,000,000 *67H 2 12,000
02 S52g4l 43,540 43,540 0
SExg |22 25,000
IDIQE=sAs @2 ¥ SM2
200,000 x 122 2,400
OIMIEAl &2l0] dge Salg & &)=
15,0003 1304 2=+ 123 2,340
olea das Sile Mg S
400,000 123 4,800
OIMIAl &2l0] &8 X2
500,000 * 189K 2 9,000
202 04| 14,880 14,880
01 2L A b 14,880 14,880
2$ELY oL 12,000
pletetdEHA & MIINSA S8 2el
20,0003 122/« 12& 2,880
301 EtE NS 1,182 1,152
11 dAMEEIXIE S 1,152 1,152
BEZAIL 219 AL AHIXA
8,000& »24 Z+62 1,182
A2 AEE SXAE EXXE AL 90,000 148,500 58,500
= 50,000
= 12,000
Al 28,000
402 2IZtA=01d 90,000 148,500 /58,500
= 50,000
& 12,000
Al 28,000
02 QI X2 AL E (01X THE) 90,000 148,500 58,500
A2 MHE SAAIE EXIXE AL 90,000
= 50,000
[ 12,000
Al 28,000
OIMEX 22 HEH 2Al XY (ZAEX) 113,800 113,800 0
= 56,900
< 17,070




2A: EES0
B sou2d NEEL
o |tk (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 39,830
101 2124 113,800 113,800 0
= 56,900
& 17,070
Al 39,830
M I1RINZ2Z2sSEs 113,800 113,800 0
OIMSX 28 BIEa ZAIXE 113,800
s 56,900
= 17,070
Al 39,830
NAGEI(GHP) HAEX 22 X2 A 88,200 0 88,200
= 49,000
= 11,760
Al 27,440
402 QI2E X201 ™ 88,200 0 88,200
= 49,000
T 11,760
Al 27,440
02 QIZEXHE2 A 2 ZZ (01 THE) 88,200 0 88,200
NAGEIT MAEX 2 KA 88,200
= 49,000
T 11,760
Al 27,440
z2A2 B4 59,041 145,055 286,014
=4a2 243 X 59,041 145,055 286,014
101 214 d| 45,700 86,715 A41,015
M IIRIZ2EXSEs 45,700 86,715 A41,015
TASEAY BAZ 23 MY o 45,700
-2 79,000& +2H x200 31,600
=5 79,0003 x2H «40 6,320
= PNEI= 79,0003 x2ZF 102 1,580
-= &l 140,000& 2E + 102 2,800
-uE| 70,0003 «2Y 103 1,400
-“HESOHI 500,000& 2 *23 2,000
201 B2 AL 13,341 13,340 1
01 A=R2teld| 9,340 9,340 0
TASEAY ASHAXHAORRG &4
=g 130,000& *6H *33| 2,340
TASEAY Baz 23 Y ME 3,000
TASEAZEN AIRES 22 4,000
02 S==294| 4,001 4,000 1
TASEAE BN oHHE €S RERF 4,001
-MEOHZE S 7002*3,0008 %13 2,100




A BEES
B sou2d MFEL
=@t ZAas 2EaE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oAS MEUS 29
7002+2,500& *12 1,750
O AIET MHAE S22
7002 #2152 12 151
SR BHEIA M2 2,599,082 4,823,014 N2,223,932
= 1,346,791
= 297,703
Al 954,588
AR DIIHX XML (5SS) 502,400 1,600,000 /1,097,600
= 251,200
= 75,360
Al 175,840
301 LEtE N = 502,400 1,600,000 1,097,600
= 251,200
& 75,360
Al 175,840
14 IIEt2 83 502,400 1,600,000 21,097,600
CSARI RIIHIX X
1,600,000 *314CH 502,400
= 251,200
< 75,360
Al 175,840
SR BINHX XM (4SS) 1,328,300 2,400,000 A1,071,700
= 664,150
< 199,245
Al 464,906
301 EtE NS 1,328,300 2,400,000 A1,071,700
= 664,150
== 199,245
Al 464,905
14 JIEt2 8= 1,328,300 2,400,000 A1,071,700
C=ERA ZIIHIX X2
3,700,000 «359CH 1,328,300
= 664,150
== 199,245
Al 464,905
S ZIIHIX XIZARG (RIHIXE, 2 A1) 130,550 149,200 18,650
= 65,275
s 19,583
Al 45,692
301 EtE NS 130,550 149,200 18,650
= 65,275
= 19,583
Al 45,692




2A:
KEH
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 130,550 149,200 18,650
AL ROIHER X2
3,730,000 *35CH 130,550
= 65,275
< 19,583
Al 45,692
SR OPF 22 XA 141,900 99,000 42,900
= 70,950
Al 70,950
402 2IZtA=01d 141,900 99,000 42,900
= 70,950
Al 70,950
02 QIZEXHE AL E X (01 MTHE ) 141,900 99,000 42,900
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